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Concertante Variations on an original theme after Pyotr llyich Tchaikovsky
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CHEERFUL COMPANY (Dirck Hals)

34 Allarg. Allegro (» = 124)
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POND AT MONTGERON (Claude Monet)
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Timp. X
Perc. 1 § -
Perc. 2
Perc. 3
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188 Allarg. Atempo (J = 56) _
5 r
5
Eb Cnt. Eb Cnt. &
& ;
All open
Solo Others eup mute p— N e | L — =
p o~ |, ﬁ — = \ = —
Bb S. Cnt. B»S. Cnt.
- o L
pdolce ——— pespress.
cup mute P ) ) L o on open L _ — P~
Bb R. Cnt. . g t i t ¥
Do || = = = ;
cup mute ) div s open | div.__unis .
BbCnt. 2
Bb Cnt. 2 f f f b
p espress ' ~— =T—F wf -
cup mute open L
B> Cnt. 3
BbCnt. 3 =i - = :
pespress " of s
Y , _ = _ _
Bb Fl. Hn. B5 Fl. Hn e = S —
* mpespress S — I
py - _ n N " , , - o P
EbS. Hn. : : EbS. Hn g f = == = = B -
¢ ' espress. m
P ) e
Iy 5y , , , = P
: EbHn. 1
EbHn. 1 = f
" P ~— nf f
5 5y — _
Eb Hn. 2 Eb Hn. 2 —F = - T f ? f
° pespres -
5 2 —
B Bar. 1 F 5 B Bar. 1 —F f f = = =
= = P 7 p— o
I} N — \ , —
Bb Bar. 2 = : Bb Bar. 2 : =
Y I - pepress - =
N cup mute i~ open _ — o
BbTbn. 1 B> Tbn. 1 - = ;
© pespres » nf
N cup mute ) ) — open ) — o
BbTbn. 2 = B> Tbn. 2 ) =
¢  pespress. P nf
cup mute Iy _ ) open L
Bs. Tbn. = = Bs. Tbn. f f
pespress —_—
5 —— , _ — = o AP s
Bb Euph. 1 § Bb Euph. 1 eSE = - 5
R — mp espress. nf
y) P —— , _ P — PSP
BbEuph.2  |# B» Euph. 2 ESE = - 5
v mpespress S —
One player, muted — ) 5, Otber player, apen All, open )
B> Bs = Eb Bs.
. 5 = 5 S| > - s ” S —f
Ppesprss — m
Y , Y
Bb Bs. By Bs. 5 === Bl =
X = = T = =
: ” S AL I AT P
pespress - =
Timp. X Timp. = =
I I
Perc. 1 Perc. 1
G G
Perc. 2 Perc. 2
Perc. 3 Perc. 3
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DANCE II (Henri Matisse)

215 [221] Attarg. Allegro (J= 112) 230

5 o} D
Eb Cnt. Eb Cnt.
& 5
One player AlL, cup mute
5 ~
Bb S. Cnt. B»S. Cnt.
¢ mp PP —
cup mute_ e
Bb R. Cnt. Bb R. Cnt.
w | T —— Sleggiero
. cup mute_ oo
BCnt2 |V B Cnt. 2
5
I — Sleggiero
cup mute
N "~ open
Gl == B Cnt. 3
* ™ —_ Fleggiero
) o] —~
Bb Fl. Hn. 1 BbFl. Hn
G
Fleggiero
1 ~ s —~ t ~ =
Eb S. Hn. = % Eb S. Hn E
t i ; F = ;
K- - — 5, S
0 s 4 ~ s ] t ~ =
EbHn. 1 = EbHn. 1 : :
Z = i Fleggiero | '
0 s o) 0 s 1 |
Eb Hn. 2 Eb Hn. 2 : :
G 5 ¥ t
P — fleggiero
0 o) 0 — | ==
Bb Bar. 1 Bb Bar. 1 = 7
G 7 i 5 ¥ 5 F e | ¥ v v =1 S —R=— i
) o} ) — \ — —= N N
Bb Bar. 2 Bb Bar. 2 E: : E = - =
© * iero =
cup mute
N — "~ open
BbTbn. 1 = B> Tbn. 1 :
¢ mp —p PP —
P \ o] ) — \ — —= N N
BbTbn. 2 B> Tbn. 2 E: : E = - =
 mp '—p © Fleggiero =
— o) =t L = —¢= N [~ — —_—
Bs. Tbn. - = Bs. Tbn. = = = =
np — > Feasiers = = = i
) — , Il , — = == A
BbEuph. 1 [# Bb Euph. 1
5 - F = 1, + = + ¥ 2 == ¥ ¥ _—
9 L al — L — = =_— ~
BbEuph.2  |# B» Euph. 2
5 F = = Fiesn = + 2 2 == ¥ ¥ _—
mp ES "
) s L — == " N M~ —
Eb Bs. Eb Bs.
G = G ¥ = =
0 t = 0
B5 Bs. ==t B5 Bs.
T = S > = = S+ =
np _
Timp. B2 Timp. EE
Y/
Perc. 1 Perc. 1
G
Perc. 2 Perc. 2
Perc. 3 Perc. 3
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s . S — )
E» Cnt. ==
©
open
Bb S. Cnt.
==
Lgcicro —
Bb R. Cnt.
=
2 ~
Bb Cnt. 2
§ i ==
2 _—
B> Cnt. 3 %
* =
=) — ,
Bb FI. Hn.
=
5y e P
EbS. Hn.
== = =i
5y =_— , _
EbHn. 1
e = = = =
mp sub
5y — =_—
Eb Hn. 2
e === —
z -
Bb Bar. 1 E 2
. - = mp sub.
H = N
Bb Bar. 2
- = mp sub.
BbTbn. 1 Z
- mp sub.
B> Tbn. 2 b \ :
= mp sub.
—
Bs. Tbn.
=
2 — N
Bb Euph. 1 § -
i e o e e e =
2 — N
Bb Euph. 2 § =
i =
E> Bs. =
o= > 37
i R P X
Y
By Bs.
. =] + = <
Timp. X
4 ki o
P
Perc. 1
S.D. (snares of
Perc. 2
Fleggiero
Perc. 3
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254
s —_ — —_—
Eb Cnt.
S = ===
mf s
~ PN -
B> S. Cnt.
B» R. Cnt.
B Cnt. 2 == J
f
Bb Cnt. 3
=
of
B) Fl. Hn ; = e
— = — T
mf [— nf
L/ — ~ L
E» S. Hn.
= ==
mf f nf
Qe ~1 "
E> Hn. 1
5 — = == i ¥ ==
mf nf
Qe 1~ L
EbHn. 2
v _ - —_ T t i i
nf - nf
.- é _ —_— = === = N
b Bar. 1
5 = f =1 ; ; ;
nf —_— f nf
B Bar. 2 s = > ; ; ; e =
S === ;
mf —_———— mf
B Thn. 1 = 2 :
i = ; 7 ; =1 7
nf —_— S nf
B> Tbn. 2 = J ; } ; ; ; == £ >
£ = == F ; ;
nf B — s nf
I=—""1 t —
Bs. Tbn.
— —_
nf - nf
) — \ \ s === = -
B Euph. 1 [ =53 == ===
oz = === = = z F i
nf N [
B> Euph. 2 E’—’ : :
Ei = == E
nf
e — e
Eb Bs.
5 = = 7z R
mp mf
g
B Bs.
5 T =
mf
Timp. X
Perc. 1
Perc. 2
Suspended Cymbal
Perc. 3 -
S
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265 [275) Rat.
/s —_— —
Eb Cnt.
3 == ”
w
Two player,sraight mute
~ =
B S.Cnt.
i =1T=
nf P
N \ —
B» R. Cnt. = z
S == =
mf -
= =
Bb Cnt. 2 =
i —
mf
H = ——
BhCnt. 3 &
€ =
_—
—= —
B Fl. Hn.
— =
nf —_— mp
fu o —
Eb S. Hn. Eﬁ
7 ; ;
jmf P
e T
Eb Hn. 1
Gi '}‘ — ' '
m P
e
Eb Hn. 2
© -
W o o——m
0!
Bb Bar. 1
- ;
nf p
N \
Bb Bar. 2
i
m
B> Tbn. 1
Y i
B> Tbn. 2 ‘ : : :
nf
N N
Bs. Tbn
iz
nf
B Euph. 1 [ = ! ‘ :
¥ =
i [ == :
mp
5 — + +
B Euph.2  |% == 2
S mp
B> Bs. =
< 3
)
B Bs.
D Ed
Timp. X
Perc. 1
Perc. 2
Perc. 3
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CARRYING THE CROSS (Titian)

277 Molto meno mosso (= 56)
straight mute
5 ’ o)
Eb Cnt.
& = P
mp rp
~
B»S. Cnt.
~
Bb R. Cnt.
~
BbCnt. 2
~
B> Cnt. 3
5 ~
Bb FI. Hn.
- s
—_— 0w
5 o)
EbS. Hn
CEaa s
P
5y o)
EbHn. 1
Chan s
rp
5y o)
Eb Hn. 2
Y e =
N ~
Bb Bar. 1
4
P
Bb Bar. 2
i e —
—_— T
B> Tbn. 1
B> Tbn. 2
~
Bs. Tbn.
) ~
Bb Euph. 1
R = ‘
PP
) ~
ByEuph.2  |&—== -
i S =
rp
5 o)
Eb Bs. =
v & [= Ed
rp
5 ~
By Bs.
*
2
~
Timp. =
Field drum 1 (snares of) - backstage ~
Perc. 1
v ]
fp———
S.D. (snares of) . 10 the left of the conductor
= ~
Perc. 2 =
i v ¥ = ¥ v
nf fp——|f
Field drum 2 (snares off) - stand in front of the stage, o the right of the conductor
Perc. 3 = — — = s
7 4 7 = 7 £ 4
o fo——f
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